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1 54. 5%

9.1%
3.94 g/L
1

C.H.0 :C:H: 0=

54.5% /12:9.1% /1:36.4% /16 =2:4: 1
C,H,0 1 (CG,H,0) ,.
:22.4 L/mol x3.94 /L =

88 g/mol

1 C,H; 0,

3.94 ¢/L.x22.4 L/mol =88 g/mol

1 mol

n(C) =(1 mol x88 g/mol x54.5%) /12 g/mol
=4 mol

n(H) =(1 mol x88 g/mol x9.1%) /1 g/mol =
8 mol

n(0) =(1 mol x 88 g/mol x36.4%) /16 g/mol

=2 mol

C,H;0,

1 mol

2 10 mL 80 mL

90 mL

55.56% . ?

(256500)

1
3n+1
2

)
3n+1
2
10 mL x
3n+1
1 2
10 x

C,H,, ., + 0, —nCO, +(n+1) H,0 (

mL n mL

1 mL

10n mL

x=5(3n+1) mL

80 =5(3n+1) +10n 1000, _s5 560, =5

10 + 80
C5H]2
2
CH, +3112+ 102 .
1 mol
10 mol
nCO, +(n+1) H,O( ) An
1 +3n+1 - n( mol)
2
(10 +80) -+ (1-55.56%) ( mol)

n+3
1 2
0" a0 "7

CSHIZ
1
2
3 9L 6 L
Po, ero2

)

Mr =Mr, =32( ) Mr, =16
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« 40 o
Mr=14n (C,H,,)
16 14n - 32
\32/ 4n-32_9
VAR 16 6
14n 16
C,H,
Mn, + M,n,
=(n, +n,)
(n, +ny) M, M,
M, M,
n,n,
n;in,
1.
4 1 mol
( ) -
A.C,H, B.C,H,OH C.CH,0H D.CH,CH,

1 C,H O, +(x
+y/4 —2/2) 0, —>xCO, +y/2 H,0 x +y/4 —2/2
A4 B.3 C.1.5 D.3.5
2
A.C;H,
B.C,H;OH——¢C,H, * H,0
C.CH,OH——=cCH, * H,0

D. C,H,
:C
1 C,H,0, X+
y/4 —z/2 . 2
1 mol C 4 mol H
C.H.O “co,” “H,0”
C.H
2.
5
( )
A.CiH, B.C,H, C.C;H; D.CH,
12 g C 1 mol 12 g H,
3 mol; C H :H>C.
CH, CH, X
H .
A.C,H—CH B. C,H,——CH,
C.CHy——CH,,; D.C,H,—CH,,,
C,H,.
12 g C 320, 4gH

3240, H 0,

C.H CH,, y/x

6
0.9172 g; 22.4 mL

( ) ( ).

A. C,H,0H C,H,0H B. C,H,0H CH,0H

C. CH,0H C,H,0H D. C,H,0H C,H,0H

2ROH +2Na ——2RONa + H, 1

0.0224 L
22,4 Limol <2 =0-02 mol
. 0.9172
L 002 =45.86
45. 86
45.86 B.C.
a-b-c a<c<b c
¢ a-b
7 amLA.B.C
2a mL AB.C ( ).

A. CH,.C,H, .C, H,
C.CH,.C,H,.C,H,

B.C,H,.C,H,.CH,
D. C,H,.C,H,.C,H,

~

C.H,.
CH, +(x+5) 0, —2CO, + T H,0( )
AV

1 mL l+x+%—x( ml)
a mL 2a mL
Y
@ 2a y=4

n( H) =4 mol
A.n(H) >4 mol  B. n(H) <4 mol
C. n( ﬁ) =4 mol D. n( ﬁ) =6 mol
: C.

8 120C 1 LCO
11 L >
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)
3. Na ;- OH ( )
—COOH( )
. NaOH R - X(
QGH ). —COOH( ).
RCOOR( _RCONHR( ) .RCOONa (

: CH3COONa +NaOH ——CH, 1 +Na,CO,) .

N\ _
)\v ( ).C=0( ) H-C=0 5. Na,CO, : — COOH (
N\ N\
) 0 T TR Na,co,
« ). y p
2.
N ONa
(D = ) C=C( ol + NaHCO,)
Non _
(2) ' v ( 6. NaHCO, . _COOH( ).
>
12 L 5 AV AV
-
( ) )
2<n<4
V =1L+11L =2 x=1 1L
=12 L Vo =12 L 0
)
1
2C0 +0, ==2C0, V n=3 x=—o  GH,
3
! C,H, 509%
3n
C,H,, O —nCO, +nH,0( ) AV C.H, % < 100% -
1L 32”L nL  aL 33.33%
3n
n+n—7—1(L) =0.5n-1(L)
¥ %(0.5n-1)
2C0 + 0, ==2C0, AV
2L 1L 2L 2+1-2(L) =1L
I-w Lo ( 22014 - 10 - 17)
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